Daxa Khandwala Rekha Building-2, 6th Floor, Ridge Road, Walkeshwar, Mumbai- 400 006

August 23, 2019

To,

BSE Limited

Phiroze Jeejeebhoy Towers, Dalal Street, Fort, Mumbai - 400 001 National Stock Exchange of India Limited

Exchange Plaza, 5th Floor, Plot No:- C/1, G Block Bandra Kurla Complex, Mumbai- 400 051

Sub: Disclosure under Regulation 29(2) of SEBI (Substantial Acquisition of Shares and Takeovers) Regulations 2011

Dear Sir,

Please find enclosed herewith intimation under regulation 29(2) of SEBI (Substantial Acquisition of Shares and Takeovers) Regulations 2011 regarding acquisition of 2500 equity shares, 100 equity shares & 100 equity shares of the Company by me respectively on 19th August 2019, 20th August 2019 and 22nd August 2019 through market purchase. With this acquisition, I am holding 12,90,431 equity shares of the company constituting of 10.81%.

Kindly take this intimation on record towards our compliance with the regulations.

Thanking you.

Yours Truly,

Daxa Khandwala

LP Acondal

Encl:- a/a

CC-

Khandwala Securities Limited Vikas Building, Green Street, Fort, Mumbai- 400 023

Format for disclosure under Regulation 29(2) of SEBI (Substantial Acquisition of shares and Takeovers) Regulations, 2011

. Name of the Target Company	Khandwala Securities Limited Mrs. Daxa Khandwala Yes National Stock Exchange of India Limited & BSE Limited		
Name of the acquirer and PAC with the acquirer			
Thether the acquirer belongs to Promoter/Promoter group			
Details of the acquisition / disposal/holding of shares/voting ights/holding of the Acquirer and PAC	Number	% w.r.t. total share/voting capital wherever applicable	% w.r.t.total diluted share/voting capital of the TC (*)
efore the acquisition/disposal under consideration, holding of :	· · · · · · · · · · · · · · · · · · ·	i	
Shares carrying voting rights	1287731	10.79	10.79
Voting rights (VR) otherwise than by equity shares		<u>-</u>	
Warrants/convertible securities/any other instrument that entitles the cquirer to receive shares carrying voting rights in the TC (specify holding in	-		:
ach category)	1287731	10.79	10.79
otal (a+b+c) etails of acquistion/sale			
	2500	0.02	0.02
) Shares carrying voting rights acquired / sale		<u> </u>	
O) VRs acquired otherwise than by equity shares C) Warrants/convertible securities/any other instrument that entitles the acquirer to receive shares carrying voting rights in the TC (specify holding in	-		<u>-</u>
each category) acquired/sold	2500	0.02	0.02
Total (a+b+c) After the acquisition/sale, holding of:		· · · · · · · · · · · · · · · · · · ·	
Affer the acquisition/sate, notating or.	4200224	10.81	10.81
Shares carrying voting rights	1290231	10.01	
O) VRs otherwise than by equity shares			
c) Warrants/convertible securities/any other instrument that entitles the acquirer to receive shares carrying voting rights in the TC (specify holding in each category) after acquisition	. –	-	
Total (a+b+c)	1290231	10.81	10.81
3. Mode of acquisition/sale (e.g. open market / off-market / public ssue / rights issue /preferential allotment / inter-se transfer etc.)	Open Mark	et	
7. Date of acquisition / sale of shares / VR or date of receipt of intimation of allotment of shares, whichever is applicable			<u>. </u>
 Equity share capital / total voting capital of the TC before the said acquisition/sale 	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-		
 Equity share capital/ total voting capital of the TC after the said acquisition/sale 	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-		
10. Total diluted share/voting capital of the TC after the said acquisition/sale	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-		

Note:

Total share capital/ voting capital to be taken as per the latest filing done by the company to the Stock Exchange under Clause 35 of the listing Agreement.

(**) Diluted share/voting capital means the total number of shares in the TC assuming full conversion of the outstanding convertible securities/warrants into equity shares of the TC.

Yours Truly

Landall Daxa Khandwala

Place : Mumbai Date: 23.08.2019

Format for disclosure under Regulation 29(2) of SEBI (Substantial Acquisition of shares and Takeovers) Regulations, 2011

1. Name of the Target Company	Khandwala Securities Limited		
2. Name of the acquirer and PAC with the acquirer	Mrs. Daxa Khandwala Yes National Stock Exchange of India Limited & BSE Limited		
3. Whether the acquirer belongs to Promoter/Promoter group			
4. Name(s) of the Stock Exchange(s) where the shares of TC are Listed			
5. Details of the acquisition / disposal/holding of shares/voting rights/holding of the Acquirer and PAC	Number	% w.r.t. total share/voting capital wherever applicable	% w.r.t.total diluted share/voting capital of the TC (*)
Before the acquisition/disposal under consideration, holding of :			
a) Shares carrying voting rights	1290231	10.81	10.81
b) Voting rights (VR) otherwise than by equity shares	_	_	-
c) Warrants/convertible securities/any other instrument that entitles the acquirer to receive shares carrying voting rights in the TC (specify holding in each category)	b	-	-
Total (a+b+c)	1290231	10.81	10.81
Details of acquistion/sale			
a) Shares carrying voting rights acquired /sale	100	0.00	0.00
b) VRs acquired otherwise than by equity shares	-	-	_
c) Warrants/convertible securities/any other instrument that entitles the acquirer to receive shares carrying voting rights in the TC (specify holding in each category) acquired/sold		• • • • • • • • • • • • • • • • • • •	-
Total (a+b+c)	100	0.00	0.00
After the acquisition/sale, holding of:			
a) Shares carrying voting rights	1290331	10.81	10.81
b) VRs otherwise than by equity shares	-	_	<u>-</u>
c) Warrants/convertible securities/any other instrument that entitles the acquirer to receive shares carrying voting rights in the TC (specify holding in each category) after acquisition			-
Total (a+b+c)	1290331	10.81	10.81
6. Mode of acquisition/sale (e.g. open market / off-market / public issue / rights issue /preferential allotment / inter-se transfer etc.)	Open Marke	t	
7. Date of acquisition / sale of shares / VR or date of receipt of intimation of allotment of shares, whichever is applicable			
 Equity share capital / total voting capital of the TC before the said acquisition/sale 	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-		
 Equity share capital/ total voting capital of the TC after the said acquisition/sale 	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-		
10. Total diluted share/voting capital of the TC after the said acquisition/sale	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-		

Note:

- (*) Total share capital/voting capital to be taken as per the latest filing done by the company to the Stock Exchange under Clause 35 of the listing Agreement.
- (**) Diluted share/voting capital means the total number of shares in the TC assuming full conversion of the outstanding convertible securities/warrants into equity shares of the TC.

Yours Truly

2 p. lowendoch

Daxa Khandwala

Place : Mumbai Date : 23.08.2019

Format for disclosure under Regulation 29(2) of SEBI (Substantial Acquisition of shares and Takeovers) Regulations, 2011

. Name of the Target Company	Khandwala Securities Limited Mrs. Daxa Khandwala Yes			
. Name of the acquirer and PAC with the acquirer				
8. Whether the acquirer belongs to Promoter/Promoter group				
		National Stock Exchange of India Limited & BSE Limited		
5. Details of the acquisition / disposal/holding of shares/voting rights/holding of the Acquirer and PAC	Number	% w.r.t. total share/voting capital wherever applicable	% w.r.t.total diluted share/voting capital of the TC (*)	
Before the acquisition/disposal under consideration, holding of :	· · · · · · · · · · · · · · · · · · ·			
a) Shares carrying voting rights	1290331	10.81	10.81	
b) Voting rights (VR) otherwise than by equity shares		<u> </u>		
c) Warrants/convertible securities/any other instrument that entitles the acquirer to receive shares carrying voting rights in the TC (specify holding in		-	-	
each category)	1290331	10.81	10.81	
Total (a+b+c) Details of acquistion/sale				
	100	0.00	0.00	
a) Shares carrying voting rights acquired /sale				
b) VRs acquired otherwise than by equity shares c) Warrants/convertible securities/any other instrument that entitles the acquirer to receive shares carrying voting rights in the TC (specify holding in each category) acquired/sold			-	
	100	0.00	0.00	
Total (a+b+c) After the acquisition/sale, holding of:				
a) Shares carrying voting rights	1290431	10.81	10.81	
b) VRs otherwise than by equity shares		<u>-</u>	-	
c) Warrants/convertible securities/any other instrument that entitles the acquirer to receive shares carrying voting rights in the TC (specify holding in each category) after acquisition			-	
	1290431	10.81	10.81	
Total (a+b+c) 6. Mode of acquisition/sale (e.g. open market / off-market / public issue / rights issue /preferential allotment / inter-se transfer etc.)	Open Mark	et		
7. Date of acquisition / sale of shares / VR or date of receipt of intimation of allotment of shares, whichever is applicable			- -	
 Equity share capital / total voting capital of the TC before the said acquisition/sale 	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-			
 Equity share capital/ total voting capital of the TC after the said acquisition/sale 	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-			
10. Total diluted share/voting capital of the TC after the said acquisition/sale	1,19,39,000 Equity Shares of Rs. 10/- each aggregating to Rs. 11,93,90,000/-			

Note:

- Total share capital/ voting capital to be taken as per the latest filing done by the company to the Stock Exchange under Clause 35 of the listing Agreement.
- (**) Diluted share/voting capital means the total number of shares in the TC assuming full conversion of the outstanding convertible securities/warrants into equity shares of the TC.

Yours Truly

Light philamid

Daxa Khandwala

Place : Mumbai Date: 23.08.2019